CU4M4 End of Module Competency Assessment: (50 points total)

1. Christine is purchasing the following items: two pairs of jeans at $39.99 each, a pair of shoes for $78.90, and a hat at $24.33.  
a. What is the total amount of the bill before sales tax? $183.21
b. If the sales tax is 6.5%, how much will Christine pay in taxes for her items? (Round to the nearest penny.) $11.91
 	(5 points total, 2 points for part a, 3 points for part b)
	
2. Jude purchased a new phone for $298, including sales tax the total amount he paid was $320.35. What percent sales tax did he pay? 7.5%
(5 points total)
3. Chet is intending to buy a new electric razor for $125. 
a. Chet has a coupon that gives him $5 off, if the sales tax is 4.5% in his area, how much will he end up paying for the razor? (Hint: The sales tax is computed after the $5 is taken off.) $125.40

b.  There is also a “tax free” sale day coming up in which no one has to pay sales tax. Unfortunately, the coupon expires before the tax free sale. Should he buy the razor with the coupon or should he wait for the “tax free” sale?  Support your answer to receive credit.  Chet should wait for the tax free sale, then he will only have to pay $125.
(10 points total, 5 points each)
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